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( it06-ans-2006.R ™

dat <- read.delim("http://phi.med.gunma-u.ac.jp/medstat/it06-k-2006.txt")
attach(dat)

layout (t(1:2))

matplot (rbind(rep(1,10),rep(2,10)),rbind (NDS,NDE) ,type="1",
ylim=c(20,35),ylab="00 (g)",main="0000",xaxt="n",xlab="")
axis(1,1:2,c("OOO","000O"))

matplot (rbind(rep(1,10),rep(2,10)) ,rbind (HFDS,HFDE) ,type="1",
ylim=c(20,35) ,ylab="00 (g)",main="00000",xaxt="n",xlab="")
axis(1,1:2,c("OOO","00O0O"))

NDD <- NDE-NDS

HFDD <- HFDE-HFDS

WeightGain <- c(NDD,HFDD)

Diet <- as.factor(c(rep("OO0O",10),rep("00O0O",10)))

IX <- c(1.1,2.1)

MWG <- tapply(WeightGain,Diet,mean)

SDWG <- tapply(WeightGain,Diet,sd)

layout (t(1:2))

stripchart (WeightGain~Diet,method="jitter",vert=T,ylim=c(0,3),
ylab="0DOO0OO0D0O0D00 (g™

points(IX,MWG,pch=18)

arrows (IX,MWG-SDWG, IX,MWG+SDWG,angle=90, code=3)

boxplot (WeightGain~Diet,ylim=c(0,3),ylab="00000000 (g)")
print(res<-var.test (NDD,HFDD))

VAREQ <- ifelse(res$p.value < 0.05, FALSE, TRUE)

t.test (NDD,HFDD, var.equal=VAREQ)

detach(dat)
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e it07-1-2006.R

attach(chickwts)

mw <- tapply(weight,feed,mean)

sw <- tapply(weight,feed,sd)

ix <- 1:length(table(feed))+0.1

layout (t(1:2))
stripchart(weight~feed,vert=T,method="jitter",ylab="00 (g)")
points(ix,mw)

arrows (ix,mw-sw,ix,mw+sw,angle=90, code=3)

boxplot (weight~feed,ylab="00 (g)")

print(res.bt <- bartlett.test(weight“feed))
ifelse(res.bt$p.value<0.05,

cat("OUOOODO BartlettOOOO p=",res.bt$p.value,"\n"),
summary (aov(weight“feed)))

detach(chickwts)
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. it07-2-2006.R N
attach(chickwts)
kf <- names(table(feed))
k <- length(kf)
for (1 in 1:(k-1)) { for (j in (i+1):k) {
cat("x* Compare ",kf[i]," and ",kf[j]," **\n")
print (RV <- var.test(weight [feed==kf [i]] ,weight [feed==kf[j]1]))
ifelse(RV$p.value<0.05, VRES<-FALSE, VRES<-TRUE)
print(t.test(weight [feed==kf[i]],weight [feed==kf[j]],var.equal=VRES)) }}
detach(chickwts)
J

0+0000000000000000000000000000000000000000000006
00000000000000 6000 2000000000000000000000000015000
000000000000000000000000 5%000000000000 1000000000
5%0000000000000000000000¢t0000000000000000000000000
000 LSDOOOOOODOO Fishe 00000 LSDOOOOODODDODOD0OO0O0OOOOONOOOODOO
0 LSDO0DO0DO0OO0OO0DOONDONDONONONONONONONONDNDOD 1000000000000000000000OO0
00 30000000000000000000000000000000000000000000000
000+00000000LSDO0000000OON accept 00000

00000000000 00000*00000000 (Bonferroni) 00000000 (Scheffé) OO
000000 (Duncan) 000000000 (Tukey) O HSDO OO OO (Dunnett) 0000000000

00 6em000000000000000 EPSO00O0O0OOOOO encapsulated postscript 000000000 pLaTeX
goooo0obobo0obobooooobooboobobobobooooobo
S O0000000MROODOOODOOOODD 10000000000000000




(Wiﬂiams)|:JDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
godoooooododoooooooooooooooobooboooooooooooooooooon
0000000000000 0000000DDLO000DLO0O0O0ooLOO0O HSDOODOOODDLDOOODLDOoOooOooOo
0000000000 0000000000000000000000000000000000*0000
godoo0ooooobdoobooooboooooooooboooob oo ooooOooooooo
godooooodoooboooobooooooooooooboooooooooooobooooooo
godoo0oodooobodooboodobooooooooobooobooobo0oooooooooooooDo
godoo0ooooobooooboo0oboooooooooboooboooboooobooooooooooDo
oooono (HO]m)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD[ll]
0000000000000 b00o0oo0oo0ooo0oo (Peritz)DDDDDDDDDDDDDDDDDDDDD
gooddodoooooooooooubooooboooooooobo0 oo OooUbOoOOoUbLDoOOoOooo
goooooooood
go0oooooo0oooooboo0oboooooo0ooo30ooobooo0o0ooooOoo0oooooooan
DDDDDDDDDD/“zug:/J3DDDDDDDDDDDDDDDDDDH{LQ’QDDDDDDDDD
gool100b00 300b0bbU00d iy ~pus000DDOOOODOODODDOOOOODDODODOOOOOO
H103y tpn = po=psO Hpyoy i pn = el Hypzy t o = psO Hyp 3y o = p3 0 4000000000
DDH{1,273}DDDDDDDDDDDDDDDD
D00000000000000000000000000000{H(2),H1,3),H25}0000000
J000d0d00o000oooO0ObO 100000000 obobooboooo00100b0b0b000000000000a
god00o0oboOooooooooboan {H{LQ},H{Lg}}DDDD[DDDDDDDDDDDDDDDDDDD
goboboouodododooodoooooooooooobooooboonoonoan
gdooooodooboouooouodoioooooooooobooboooooooDooououon
0% 000000000000000D000D00000000D00000000DO0O0000000 %0
000000000000 000D0000000000D ’s%000000000000000000000
go00o0ooooooooooooooooooooooooooooooooooooooooooooon
005 0000000000000000000000O0O0O0000O0O0DODOOODOO0O0000000O0
go00d0o0odoobodooboo0oboooooooooboooboooboOooooOooooooOooobDo
gooo0obo0o0oooooooooao
0000O0000000o000000000bO0ObO0ObOO0ObOO HSDOOOOOOOOODODODODOO
goooooOooooooo (1997)DD|:|[||]|:|D|:|

goooobbobobon

coobooooboboooboooooOoOoooOoboOoobOo0OoOoOoOoOoOoOOoO00ObOOOoOobOOOOoOoon
goocooooboooooobooooboooOooOoOoOoOoObOOoOoOO0OoOoOoOoboOobobooboboOobobooboobooon
000000000 0ODOU00OOkKkOOOD E; (i=1,2,...,k)00000O00O0OO

k
Pr(U_,E) <> Pr(E;)
i=1

0000000000 0000000000000000000000000000000000000000000¢0000
gooooooooooOoOOOOO0OO0O0O000



0000000 k0000 ;00000000000 000O0DODOCOOO000O00ODOODO F;000000
goooooobooboooboobooobobooboobbooboobbooboobbooboobo
gobobobo

0000000000000 00000000000000D00O0DO0O00000 {Ho,Hozy ..y Hop} O
O0o0E 000000000 HyOOoooooooooooooooooooooooooooooooo
gooooooo

Pr(0000000000000000O0OO0O00000000)
<Yk PH(000D00O0 Hy,O0OOODODOOD)
000 «00000000000000000000000000000000 «/k000000000
000000000000000000000000000 «000000000000000000000
0000000 «/A00000000¥000000000000000000000

1. 0000000000000 0000O000U0DO0O0 kODDOOO

2.00000000000000 00000 =005000=001000000000O

3. 000000000000000000O00DO0000DO00O0T; (i=1,2,...,k)00000O0

4. 000000000000 ;000000

5, 000000 7; 00000000 /k0000000D0O00O0DO0O00O0O0O0O0O (1—a/k)x100%0 0
0qO00000T;,>¢ 000 H,O0OOOODOT, < OO H,OOODODOOOODOOOOM

O000RODOOODDOODODOODOOOOD /k00000O00O0OO0OOOOODOODOOOOOOOO
000 k000000D0D0 10000000 1000000000000O0DOODOOODOOODOOOODOOO0
gogooboooboobobooboobbooobooboobboobuoobobooboobboob

ggooog

0000000000000 D0000 Hy, OOOODOOOOD o/k00D000000000O0O0O0ODO
ooboooooooooooobooobooooboooooobooboOooobooOoo

1. 0000000000000000000000D0O0 kOOOOO

0000000000000 0 «c0O0D00O0e=005000 a=0010000000000000O
gobooboobooooo

ag=a/kDas=a/(k—1)0..0a,=a000000
000000000000o0o0000DO0000D0o0oo0onO0T; (=1,2,..,k) 000000
OoooOoOooooooo ;000000

go0O0C0QL ;00000000 RFOODOD0ODODODODOOOOOOOO

FO0D00ODDOODOD o0 ,OOODODODO

P>, 0000000000000 00DCODOOOO0O0ODOO0ODODOOOOOOOPR, <o;00O
Hy, 0OOOOO0O0O0O000 pO0000O000O0OO0:=k0000000000

o

® N> ot W

000000o0o0ooooROOODOD 7.0 RO OOOOOOOOOO0OO Pl=PRx((k—i+1)00
gooboboboooooobobobobobooo

*0000000000000000000000000000000000000000000000000000000000
ooooooooOoo0oo0oO0oU0Oo0DO0oOO0O0O0O0O000ODO0D00 KODODOO0ODODOODOOOOOOOOODODOD
oo0ooO0o0oo0 100000000000 0O000COO0CODOO0OO



000000 HSD

O00000HSDOOOOOOOOO0ODOO0O0O0ooO00oooooooooooooooooooooon
00000 10000 e00O00DO0ODOOODO n;00:=1,2,...,a0000000000000000 10
0j0000000 2;000000000001i0000 7000 V00
7= Yiliwii/n
Vi = Xili(wy—@)?/(ni—1)
000o0oooono Pe0O0ODODO VOO
P = N—-a=ni+no+..4+n,—a
Ve = Yia Z;hﬂ(xu — )%/ Pg = Y (ni = 1)Vi/Pg
goodoogo
0000000000000 HSDOOOUOODOOODoOO0O0oooooooooooO twdoooooog
t0000000000000D000D000D000D00 (Studentized range distribution) 00000000
(1 —a) x 100%0 O V200000000000000 0000000000000 D00OD0O000O0O0
god

1. 000000000 0o0oU0o0ooOoo HSDOoOoOoOooooo

{H12y, Hi sy s Hiay, Hi2,3ys oo Hia—1,03

N

O000 «00000a=0.0000 «a=00100000000000
.000oooo0ooo00ooD 7,V 00000Pg, Ve O0OOOOO
4. 0000 2000000000000000000 ;0

tij = (7 — 35)/ Ve (1/mi + 1/n;)

000000004, =1,2,..,a;i < jI

. |tijl > qla,Pp;a)/v200 H,; 00D0ODi00 j000000000000000000O0
D00D0000000000000000 M|ty < ¢(e,Pe;e)/v200 Hy ;0000000
00 g(a,Pg;a) 0000 0000 P, O00000D0D0000000000O00 (1-a)x 100%0
00000000a = 0.050000¢(a,Pg,0.05 0000 «0000 P,O000O0O0O0D0DO0D00D0
0000000 9% 00000RO0O00000000000000000 a0000df0000
qtukey(0.95,a,df) 0000000000000 000000000000 TukeyHSDO) 00000
000000000000000000

w

ut

Oo0o00ooo0o0ooo00oo ROOOODOOOOOODOO

attach(chickwts)
pairwise.t.test(weight,feed,p.adjust.method="bonferroni")
detach(chickwts)
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